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5: The product of 1 and the square of the radius. |
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Secter of a Circle: The region bound by an arc of the circle and the two radii that meet at the
- endpoints of the arc. It is named by using one endpoint, the center of the circle, and the other ~—
endpoint. Sector RPS

Area of a Sector (Radians): Area of a Sector (Degrees):
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nple 3: The area of sector AOB in the following image s 28m cm?. Find the measurement of the cenira

angle labeled x'.

4: ._cle O has a minor arc 4B with an angle measure of 60°. Sector AOB h@m‘. area of 24
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Length of the arc MN = .Sk N Length of the arc OP = 19,728 o Length of the arc EF='= '
Area of a sector = L2 N Areaofasector=_| (43,5 5 (,mz Area of asector= b9
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: Lengthofthearc JK= 55 .22 ©7lengthofthearcGH= 2.4 7/ LengthofthearcAB= i
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Areaofasector= 5S¢ T2 ++ Area of a sector=_3 7. 1o Area of a sector= |
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